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Instructions: Please snow all pertinent work for each problcin_gﬂﬁz&xlhefmm Gnswer.
Remember that a correct answer does not assure full credit; credit will be assigned for
correct work as well as for the correct answer, with emphasis on work. You may not use
a calculator for this exam. Please attach your note card to the back of the test. Good

Iuck!!
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3.

Give the following set as indicated.
The whole numbers between 1 and 5, including 5.

a) Using set builder notation b) Using roster form
%x\ € w)v\'xssf \1,5,4»“3i
C) On a number line

O + 1 54 g

Of the following, which is a true statement (circle your answer):

e

a)  4isaelementof {-1, 4,5} "\; b) {6} isaelement of {-1, 4, 5}
. -_.-v—d"/
c) -1, 4,575 a element of {4} d) {4} is a element of {-1, 4, 5}

Of the following, which is a true statement (circle your answer)

a) 6 is a subset of {-1, 4, 6} @ {6} isa subset of{ 1, 4,6}~

C) {-1, 3, 5} is a subset of {3} d) {4} is a subset of {-1, 3, 5}

Use <, > or = to compare the following. Show all work to get one number to compare to

other' .
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5. Evaluate the following (show expansion):

(4)"2 @ N7
305

6. Evaluate using order of operatlons (show/all work; each step in order of op.)
a) 7+28+702-3 = Fi'gx -3 =i 34;2_

g e
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7. Match each of the following properties with the example that best exhibits the
property. (Write the letter of the property on the line beside the example that best shows it,)

_E(502)0y=50(2y) ay-Commutative Propof Additien

b) Commutative Prop. of Mult.
A 2+3)+8=8+@+3) c)F-Distributive-Prep-
' E ., d) Associative Prop. of Addition
?z b 6 e -l =1 ¢) Associative Prop. of Mult.
-t . f) Inverse of Addition
= ( ve+n=1+4%2 g)-Inverse-efMultiptication
8 : hy—tdentity of Additien
H 5+0=35 i) Identity of Multiplication
(g
) = 8. For each of the following give the correct agswer:
- a) 251 + 0 = Kk\\c)(’l'('iv’\e‘f
4 b 0+3502 = TILVC -
3 )
g’) c) 25710 » 0 = 2exC
‘B 9. Assume the following: A = {1,234,5}
Z B = {2,4,6,8}
C = {1,3,5,7}
a) A NB b) A v B c) BnC
V92 pe ) o e
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10.  Clear and then solve the following: # E W« ‘
Six 6 =5+ Yix = s
| Ay = |Li"1
s % s« -~\--‘s& 1
P S O /‘5 s
Stepinky T 2Lx~<10 = 04 12 l%
C V2% ) -~ L?\i
-+
P Fx — 4o =
140 f|C

Wy g Ty
On the following graph, graph both the %Hleymn{g{equatlons Den’t forget

to label both graphs with their equations. _
3x — 2y = 6 (Make sure to use 3 points and label them.) X/f X=0 ‘Zj =€ :>5(’ 3

Y = -Xx" + 3 (Make sure to use 5 points and label them.) u=0 A 2 BR2
2 (0,3 2f9)-2 =€
L% ()3 - x=Z  32)
2 i (!)f tt3-2 (2.0 (s 7 :

2 =’2

// (v,5)
(t, &)
(4,3)
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